10 by 5 Tenner Grid Puzzles

Use the digits 0 to 9 to fill the cells in the grid. The columns must add up to
the given sums at the bottom. You must use all the digits 0 to 9 in each row,
but digits may be repeated in columns. The digits in connecting cells (also
diagonally) must be different.

09 5 7
4 |2 1
4 9 5
8 0
22119120(12 (241711 123 |15 |17

810 5 2 7
9 0
3 5 7
4 9 2 5
21116 (15|15 15|17 |20 |17 |17 |27

3 71911
1 2173
0
3 1 6
1712311415 8 [30/23 13|13 24
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Answers

Use the digits 0 to 9 to fill the cells in the grid. The columns must add up to
the given sums at the bottom. You must use all the digits 0 to 9 in each row,
but digits may be repeated in columns. The digits in connecting cells (also
diagonally) must be different.

410925137638
6,8 7]10(9]1412|5]1)3
314,116 ,2|7[0]9 8|5
907131485162 |0/ 1
2211920112124 |17 |11 |23 15|17

8106 (5|19 12]13 4|7
5091213 (4]07|6]1 8
213601519 ,8|7/4
64| 1, 7[/9[3 20|58
21116 15| 1515172017 17|27

6 (3|8, 5(2[7,9]1]0 4
419111608 ([5]2 7|3
O(8|53[2[6,7[4|1/9
7131014192 ]6|5 8
1712311415 8 [30|23 13|13 24
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